Unit 5 Review Game
1. Name 2 types of voting restrictions faced by Americans prior to the 1820s.

2. Modern “politicking” aimed at appealing to the masses began during which presidential election?

3. By 1830, only 2 U.S. states had property qualifications as a requisite to vote in elections. Which states were they? (OK, this is an intentionally hard question but here is a hint: its ironic that this state had voting restrictions given that it is the home of Andrew Jackson)
4. What percentage of eligible voters (white men) turned out to vote in 1840?
5. Name 3 American authors who became popular in the 1830s for their appeal to the mass audience

6. Name 3 candidates for president in the 1824 election & who won the most popular votes? 

7. As a result of the “corrupt bargain” ___ became president and Clay became ___
8. 2-Part Question: As a result of the _____ John C Calhoun began to argue for ______ which led Andrew Jackson to call for the Force Bill in 1833. 
9. 2-Part Question: The Democratic-Republican Party split during the Election of 1824: Jackson’s political party was the ____ while JQ Adams distinguished his party as the ___

10. Andrew Jackson won election as president in which two elections?
11. When Andrew Jackson ran for president in 1828, the only two issues he revealed to voters was his support of states’ rights and ______. 
12. One of the most significant precedents of Andrew Jackson’s election in 1828 was the massive turnover in the federal bureaucracy known as the _______

13. As a result of the Peggy Eaton Affair, Jackson began relying on _____ to help him make executive decisions
14. Jackson’s 1830 veto of the ____ was not just an attack on national funding for state transportation projects; it was also a personal attack on Henry Clay.

15. The person most responsible for the American System, Missouri Compromise, and the Tariff Compromise Bill of 1833 was ___

16. The Supreme Court case of Worchester v Georgia (1832) was a victory for ___
17. The Second Bank of the United States served important economic functions such as selling bonds & providing loans, but the most important function it served was:
18. The chief manager of the 2nd Bank of the US was:

19. Jackson’s veto of the 2nd BUS charter in 1832 did not kill the bank (it still had 4 more years before its charter expired). How did Jackson kill the bank?

20. 2-Part Question:  Jackson’s 1836 Specie Circular forced the federal government to only accept _____ for the sale of _____
21. The successor to Jackson in 1836 was 

22. Van Buren’s approach to the Panic of 1827 was 

23. By the election of ___, the two-party system was re-established and permanently in place.

24. Name 3 core beliefs of the Whig Party
25. Name 3 core beliefs of the Democratic Party 

26. Analogy Question with 3 parts: Jackson (as founder of the party) is to the Democratic Party as ___ is to the Whigs, as ___ was to the Federalists, and as ___ was to the Democratic-Republicans 

27. The Whig slogan in the presidential election of 1840 was: 

28. The Whig take-over in 1840 was short-lived because:

29. Name the first ten U.S. presidents  (in order):
30. Assuming that Washington was not a Federalist (even though he basically was), how many American presidents were officially federalists? Name them.
31. How many presidents were Democratic-Republicans? Name them.

32. The most significant change in American politics in the “Age of Jackson” is:
33. This election was the first in which wide-spread mudslinging was used as a politicking tool:
34. The Webster-Hayne debate of 1830 centered on the issue of:

35. Henry Clay’s biggest blunder that led to the end of the Bank of the US was his attempt to

36. Name 3 changes in America in the 1830s & 1840s that led to the “market revolution” (national economy): 

37. From 1840 to 1860, the growth of railroads improved the connection between which two U.S. regions?

38. The emergence of a national market economy from 1840 to 1860 was spawned in part by regional specialization. What did each of America’s 3 regions specialize in?

39. One trend that the North, South, and West each experienced immediately prior to and during the market economy of the 1840s-1860s was the shift from yeoman farming to ___

40. From 1840 to 1860, the 2 largest immigrant groups to the USA were:

41. Nativists mostly targeted their prejudice towards: 

42. Name 2 reasons for the increased immigration to America from 1840-1860:

43. Name 4 significant changes the increase in immigration caused in America:

44. What is “Nativism”?

45. The most significant transportation link between the North and West the:

46. Name 3 consequences of the Erie Canal: 

47. What was the name give to the pre-industrial system involving in-home textile production?

48. The greatest example of early American textile factories was this company: 

49. Why did the North and West support high tariffs? (a different answer is needed for each region)
50. In the 1830s (near the beginning of Northern industrialism), which demographic group made up the largest percentage of textile laborers?

51. One way religious evangelists and Jacksonian Democrats were similar was:

52. The first dramatic evangelist of the Second Great Awakening was:

53. The most successful social reform of the 1820s to 1850s was:

54. What is the “Cult of Domesticity”?

55. The most successful advocate of asylum (mental institution) improvement was

56. Why did immigrants & middle-class whites support the free public school movement from 1820-1850?

57. The most popular and successful advocate for free public schools from        1820-1850 was

58. Moderate anti-slave supporters wanted slaves to be ___ after gradually emancipated

59. The most important difference between radical and moderate abolitionists was 

60. The most successful of the radical abolitionists, president of the American Anti-Slave Society, and editor of The Liberator was ___.  

61. Name one of the two most important newsletters that were written by former slaves and black abolitionists:

62. Northern opponents to abolition most likely lived ___. 

63. Conservative abolitionists broke from William Lloyd Garrison in 1840 and formed the ___.

64. One reason conservative abolitionists split with William Lloyd Garrison in 1840 was:

65. The two most visible organizers of the Seneca Falls Convention in 1848 were:

66. Two demands made at the Seneca Falls Convention of 1848 were:

67. The utopian religious group that broke from the Quakers, believed in sexual equality, and believed in the second coming of Christ was:

68. The utopian community that believed that Christ already returned to Earth, thus making moral rules obsolete was  ____

69. The literary and philosophical idea of the mid-19th century that people can connect with universal spiritual forces is called:

70. Name 2 Transcendentalist writers of the mid-19th century

71. More than any other invention, this helped Western farmers by the early 1800s: 

72. The “father of American textile factories” is __

73. The creation of the ___ made gaining credit easier but also led to depressions in 1819 and 1837.

74. Identify 3 reasons for the Southern cotton boom of the early 1800s
75. The first major link between east & west was ___ in 1825.

